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EME | KE | BES Alexandhium Dinophysis e
D. fortii D. acuminata F DD Dinophysis
(D ET 787 3362 1430 0 480 0
@f£RA 791 | 3368 10 0 0 0
R=Vik 6.60 | 33.42 10 0 0 0
@EFIE 747 | 3357 0 0 0 0
GOXE#HFE| 741 3348 0 0 0 0
OFR 7.30 | 3351 0 0 0 0
DEE 750 | 3365 0 0 0 10 |D. tripos: 10
®&E 8.10 - 0 0 0 0
ORE 8.10 - 0 0 0 0
(KR 7.30 - 0 0 0 0
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EEA Alexandrium (FR%R/L)
OHET |QfHE QO=ViR |(@EHIE |OXEHAGER (DEE |©FE |OFE |(OXR
9H1H 20 140 10 0 100 30 10 0 0 0
9H8H 180 60 10 0 80 0 10 - -
9H16H 190 20 20 0 10 0 40 = - =
9H22H 130 10 0 10 80 10 30 = - =
9H30H 50 220 10 0 60 50 40 =
1085~8H 10 20 10 0 20 0 30
10A15H 0 0 0 0 0 10 0 -
10H20H 20 20 0 10 10 0 0 - - -
10H27H 10 50 10 0 10 10 0 - - -
1183~4H 0 20 0 10 10 0 0 0 0 0
11H10H 20 30 0 0 10 0 0 = - =
11817 50 0 10 0 0 10 0 = - =
11H25H 40 10 0 0 0 0 0 - - =
11H308B~12A2H - - - - = - = 0 0 0
12A8H 0 0 0 0 0 0 0 - - -
12A16H 0 10 = = 0 0 - = - —
12H22H 10 0 0 0 0 0 0 - - -
185~6H 130 0 0 0 0 0 0 0 0 0
1813H 410 10 0 10 0 0 0 = - =
1819H 360 0 0 0 0 0 0 = - =
1H26H 1180 0 0 0 0 0 0 - - =
2H2H 1430 10 10 0 0 0 0 0 0 0
@maR D. fortii (HARBHL/L)
OEE |QBH#H QO=VIE |(@EHIZ |OXEHFHAGEIRE (DEE |®FE |(OFE |(DXR
9H1H 0 0 0 0 0 0 0 0 0 0
9H8H 10 0 0 0 0 0 0 —
9H16H 0 0 0 10 0 10 0 - - -
9H22H 10 10 0 0 0 0 10 - - -
9H30H 0 0 0 0 0 0 0 = - =
10A5~8H 0 20 10 0 0 0 0 0 0 0
10A15H 0 10 0 0 10 0 0 - - =
10A20H 0 0 10 0 0 0 0 = - -
10827H 0 0 0 0 0 0 0 -
11H3~4H 0 0 0 0 0 0 0
11H10H 10 0 0 0 0 0 0 - -
11H17H 10 0 0 0 0 0 0 = - =
11H25H 0 0 0 0 0 0 0 =
11H308B~12A2H - - - - - - -
1288H 10 0 0 0 0 0 0 =
12A16H 0 0 = = 0 0 = = - -
12H22H 0 0 0 0 0 0 0 - - -
1A5~6H 0 0 0 0 0 0 0 0 0 0
1813H 0 0 0 0 0 0 0 - - -
1819H 0 0 0 0 0 0 0 = - =
1H26H 0 0 0 0 0 0 0 = - =
2H2H 0 0 0 0 0 0 0 0 0 0
_—_— D. acuminata (38 %L/1)
OEE |QBH#H QO=—VIE |(@EHIZ |OXEHAGEIRE (DEE |®FE |(OFE |(DXR
9H1H 350 0 0 0 0 0 0 0 0
9H8H 260 120 0 10 30 0 10 -
9H16H 350 0 0 0 10 0 20 - - -
9H22H 100 90 0 0 0 0 0 - - -
9H30H 150 120 0 0 30 0 20 - - -
10A5~8H 140 30 20 0 20 0 30 0 0 0
10A15H 20 10 0 10 0 0 0 = - =
10A20H 40 30 10 0 0 0 20 - - =
10A27H 30 10 0 0 10 0 0
1183~4H 60 0 0 0 0 0 0
11H10H 30 0 0 0 0 0 0 -
11H17H 10 0 0 0 0 0 0 - - -
11 H25H 70 0 0 0 0 0 0 = - =
11H30H~12H2H - - - - - - - 0 0 10
1288H 30 30 0 10 0 0 0 = - =
12A16H 20 0 = = 0 0 = = - -
12822H 20 0 0 0 0 0 0 = - -
1H5~6H 20 0 0 0 0 0 0 0 0 0
1813H 70 0 0 0 0 0 0 - - -
1819H 80 0 0 0 0 0 0 - - -
1H26H 110 0 0 0 0 0 0 = - =
2H2H 480 0 0 0 0 0 0 0 0 0




